

# Laplace Inverse:-

## Method (1):- (From table)

ex:-  $LT^{-1}\left\{\frac{1}{s}\right\} = 1$

ex:-  $LT^{-1}\left\{\frac{1}{s^2}\right\} = t$

ex:-  $LT^{-1}\left\{\frac{1}{s^{10}}\right\} = \frac{t^9}{9!}$   $LT\{t^9\} = \frac{9!}{s^{10}}$   $\text{لـ } t^9$

ex:-  $LT^{-1}\left\{\frac{1}{s^4}\right\} = \frac{t^3}{3!}$

ex:-  $LT^{-1}\left\{\frac{1}{s-3}\right\} = e^{3t}$

ex:-  $LT^{-1}\left\{\frac{1}{s+6}\right\} = e^{-6t}$

ex:-  $LT^{-1}\left\{\frac{1}{(s-3)^4}\right\} = \frac{t^3}{3!} e^{3t}$   $\left(\begin{array}{l} \text{الجزء الأول} \\ \text{نظم الـ } s \end{array}\right)$

$\xrightarrow{\text{الجزء}}$

ex:-  $LT^{-1}\left\{\frac{1}{(s-7)^{10}}\right\} = \frac{t^9}{9!} e^{7t}$

$\xrightarrow{\text{الجزء}}$

ex:-  $LT^{-1}\left\{\frac{1}{(s^2-2s+1)}\right\} = \frac{1}{(s-1)^2} = t e^t$

$\xrightarrow{\text{الجزء}}$



الجزء بـ إشارة

ex:  $LT^{-1} \left\{ \frac{1}{s^2 + 4s + 4} \right\} = LT^{-1} \left\{ \frac{1}{(s+2)^2} \right\}$

$$F(t) = t e^{2t}$$

ex:  $LT^{-1} \left\{ \frac{s+1}{(s+1)^2 + \omega^2} \right\} = \cos \omega t e^{-t}$

ex:  $LT^{-1} \left\{ \frac{3}{(s-2)^2 + 9} \right\} = \sin 3t e^{2t}$

ex:  $LT^{-1} \left\{ \frac{s+2}{(s+2)^2 - 81} \right\} = \cosh 9t e^{-2t}$

ex:  $LT^{-1} \left\{ \frac{s+1}{(s+2)^2 + 4} \right\} \rightarrow$  جب انہ یکوہ لڑاؤ  
نومہ دتے متساہین

$$LT^{-1} \left\{ \frac{s+1+1-1}{(s+2)^2 + 4} \right\} = LT^{-1} \left\{ \frac{s+2-1}{(s+2)^2 + 4} \right\}$$

$$LT^{-1} \left\{ \frac{s+2}{(s+2)^2 + 4} - \frac{1}{(s+2)^2 + 4} \right\}$$

$$LT^{-1} \left\{ \frac{s+2}{(s+2)^2 + 4} - \frac{1}{2} \frac{2}{(s+2)^2 + 4} \right\}$$

$$F(t) = \cos 2t e^{-2t} - \frac{1}{2} \sin 2t e^{-2t}$$



ex:  $LT^{-1} \left\{ \frac{1}{s^2 + 4s + 9} \right\}$

$LT^{-1} \left\{ \frac{1}{(s+2)^2 + 5} \right\}$

$\frac{1}{\sqrt{5}} LT^{-1} \left\{ \frac{\sqrt{5}}{(s+2)^2 + 5} \right\} = \frac{1}{\sqrt{5}} \sin \sqrt{5} t e^{-2t}$

$s^2 + 4s + 4 - 4 + 9$   
 $s^2 + 4s + 4 + 5$   
 $(s+2)^2 + 5$

ex:  $LT^{-1} \left\{ \frac{s+1}{s^2 + 6s - 4} \right\}$

$LT^{-1} \left\{ \frac{s+1}{(s+3)^2 - 13} \right\}$

$s^2 + 6s - 4$   
 $s^2 + 6s + 9 - 9 - 4$   
 $(s+3)^2 - 13$

$LT^{-1} \left\{ \frac{s+1+2-2}{(s+3)^2 - 13} \right\} = LT^{-1} \left\{ \frac{s+3-2}{(s+3)^2 - 13} \right\}$

$= LT^{-1} \left\{ \frac{s+3}{(s+3)^2 - 13} - \frac{2}{(s+3)^2 - 13} \right\}$

$= LT^{-1} \left\{ \frac{s+3}{(s+3)^2 - 13} - \frac{2}{\sqrt{13}} \frac{\sqrt{13}}{(s+3)^2 - 13} \right\}$

$f(t) = \cosh \sqrt{13} t e^{-3t} - \frac{2}{\sqrt{13}} \sinh \sqrt{13} t e^{-3t}$

$$\begin{aligned} \therefore \mathcal{L}\{t F(t)\} &= -\frac{d}{ds} f(s) \\ \therefore \mathcal{L}^{-1}\left\{\frac{d}{ds} f(s)\right\} &= -t F(t) \end{aligned}$$

أمثلة

مثال

ex:  $\mathcal{L}^{-1}\{\cot^{-1}s\}$

$$f(s) = \cot^{-1}s$$

$$\frac{df(s)}{ds} = -\frac{1}{s^2+1}$$

$$\mathcal{L}^{-1}\left\{\frac{df(s)}{ds}\right\} = -\mathcal{L}^{-1}\left\{\frac{1}{s^2+1}\right\}$$

$$-t F(t) = -\sin t$$

$$\therefore \boxed{F(t) = \frac{\sin t}{t}}$$

ex:  $\mathcal{L}^{-1}\{\tan^{-1}s\}$

$$f(s) = \tan^{-1}s$$

$$\frac{df(s)}{ds} = \frac{1}{s^2+1}$$

$$\mathcal{L}^{-1}\left\{\frac{df(s)}{ds}\right\} = \mathcal{L}^{-1}\left\{\frac{1}{s^2+1}\right\}$$

$$-t F(t) = \sin t$$

$$\boxed{F(t) = -\frac{\sin t}{t}}$$

ex:  $\mathcal{L}^{-1}\{\tan^{-1}(s+1)\}$

$$F(s) = \tan^{-1}(s+1)$$

$$\frac{df(s)}{ds} = \frac{1}{(s+1)^2+1} \Rightarrow \mathcal{L}^{-1}\left\{\frac{df(s)}{ds}\right\} = \mathcal{L}^{-1}\left\{\frac{1}{(s+1)^2+1}\right\}$$

$$-t F(t) = \sin t e^{-t}$$

$$\boxed{F(t) = -\frac{\sin t e^{-t}}{t}}$$



ex:-  $LT^{-1} \left\{ \ln \frac{s^2+1}{s^2-1} \right\}$

$$f(s) = \ln \left\{ \frac{s^2+1}{s^2-1} \right\} = \ln(s^2+1) - \ln(s^2-1)$$

$$\frac{df(s)}{ds} = \frac{2s}{s^2+1} - \frac{2s}{s^2-1}$$

$$LT^{-1} \left\{ \frac{df(s)}{ds} \right\} = 2 LT^{-1} \left\{ \frac{s}{s^2+1} \right\} - 2 LT^{-1} \left\{ \frac{s}{s^2-1} \right\}$$

$$-t F(t) = 2 \cos t - 2 \cosh t$$

$$F(t) = - \frac{2 \cos t - 2 \cosh t}{t}$$

ex:-  $LT^{-1} \left\{ \ln \left( 1 + \frac{1}{s} \right) \right\}$

$$f(s) = \ln \left( 1 + \frac{1}{s} \right) = \ln \left( \frac{s+1}{s} \right)$$

$$f(s) = \ln(s+1) - \ln s$$

$$\frac{df(s)}{ds} = \frac{1}{s+1} - \frac{1}{s}$$

$$-t F(t) = e^{-t} - 1$$

$$F(t) = \frac{e^{-t} - 1}{-t}$$



Method (2): \*partial Fraction\* الكسور الجزئية

$$\frac{f(s)}{g(s)} = \frac{f(s)}{s(s-1)(s+3)} = \frac{A}{s} + \frac{B}{s-1} + \frac{C}{s+3}$$

(roots) جذر  
partial Fraction  
كسور جزئية

[1] Not repeated roots:- جذر غير مكررة :-

$$\frac{f(s)}{(s-1)(s+10)} = \frac{A}{(s-1)} + \frac{B}{(s+10)}$$

أصغار المقام غير مكررة  
رسم (roots)  
طريقة الفرض

[2] Repeated roots:- جذر مكررة :-

$$\frac{f(s)}{(s-1)^3} = \frac{A}{(s-1)} + \frac{B}{(s-1)^2} + \frac{C}{(s-1)^3}$$

[3] Complex roots:- جذر تخيلية :-

$$\frac{f(s)}{s(s^2+1)} = \frac{A}{s} + \frac{Bs+C}{s^2+1}$$

طريقة إيفرض  
عقدة  
Complex

$$as^2+bs+c=0 \Rightarrow \text{if } b^2-4ac < 0$$

Complex roots



ex: Find  $LT^{-1} \left\{ \frac{1}{s(s^2+1)} \right\}$

$$\frac{1}{s(s^2+1)} = \frac{A}{s} + \frac{Bs+C}{s^2+1}$$

$$1 = A(s^2+1) + (Bs+C)s$$

$$s=0 : 1=A \Rightarrow A=1$$

$$\text{Coeff } s^2 : 0 = A+B \Rightarrow B=-1$$

$$\text{Coeff } s^1 : 0 = 0+C \Rightarrow C=0$$

$$\therefore LT^{-1} \left\{ \frac{1}{s} - \frac{s}{s^2+1} \right\} = 1 - \cos t$$

ex:  $LT^{-1} \left\{ \frac{1}{(s-2)(s-1)(s+3)} \right\}$

$$\frac{1}{(s-2)(s-1)(s+3)} = \frac{A}{s-2} + \frac{B}{s-1} + \frac{C}{s+3}$$

$$1 = A(s-1)(s+3) + B(s-2)(s+3) + C(s-2)(s-1)$$

$$s=1 : 1 = -4B \Rightarrow B = -\frac{1}{4}$$

$$s=2 : 1 = 5A \Rightarrow A = \frac{1}{5}$$

$$s=-3 : 1 = 20C \Rightarrow C = \frac{1}{20}$$

$$LT^{-1} \left\{ \left( \frac{\frac{1}{5}}{s-2} - \frac{\frac{1}{4}}{s-1} + \frac{\frac{1}{20}}{s+3} \right) \right\} = \frac{1}{5} e^{2t} - \frac{1}{4} e^t + \frac{1}{20} e^{-3t}$$



ex:  $LT^{-1} \left\{ \frac{s+1}{(s-1)^2(s^2+1)} \right\}$

$$\frac{s+1}{(s-1)^2(s^2+1)} = \frac{A}{s-1} + \frac{B}{(s-1)^2} + \frac{Cs+D}{s^2+1}$$

$$S+1 = A(s-1)(s^2+1) + B(s^2+1) + (Cs+D)(s-1)^2$$

$$[S=1]: 2 = 2B \Rightarrow B=1$$

$$[coeff s^3]: 0 = A + C \Rightarrow A = -C$$

$$[coeff s^2]: 0 = -A + B - 2C + D$$

$$[coeff s^1]: 1 = A + C - 2D \Rightarrow D = -\frac{1}{2}$$

$$0 = C + 1 - 2C - \frac{1}{2} \Rightarrow C = \frac{1}{2}$$

$$A = -\frac{1}{2}$$

$$LT^{-1} \left\{ \frac{-\frac{1}{2}}{(s-1)} + \frac{1}{(s-1)^2} + \left(\frac{1}{2}\right) \frac{s}{s^2+1} - \left(\frac{1}{2}\right) \frac{1}{s^2+1} \right\}$$

$$F(t) = -\frac{1}{2} e^t + t e^t + \frac{1}{2} \cos t - \frac{1}{2} \sin t$$



# Applications 05 • I & II

The solution of the ordinary DE:-

Theorem:

تقدم هذه نظرية كل  
المعادلات التفاضلية

$$LT \{ F(t) \} = f(s)$$

$$LT \{ F'(t) \} = s f(s) - F(0)$$

$$LT \{ F''(t) \} = s^2 f(s) - s F(0) - F'(0)$$

$$LT \{ F'''(t) \} = s^3 f(s) - s^2 F(0) - s F'(0) - F''(0)$$

$$LT \{ y(t) \} = Y(s)$$

$$LT \{ y'(t) \} = s Y(s) - y(0)$$

$$LT \{ y''(t) \} = s^2 Y(s) - s y(0) - y'(0)$$

ex: solve  $y'' + 3y' + 2y = 3e^{-2t}$ ,  $y(0) = y'(0) = 0$

$$LT \{ y'' \} + 3 LT \{ y' \} + 2 LT \{ y \} = 3 LT \{ e^{-2t} \}$$

$$s^2 Y(s) - s y(0) - y'(0) + 3 [s Y(s) - y(0)] + 2 Y(s) = \frac{3}{s+2}$$

$$Y(s) [s^2 + 3s + 2] = \frac{3}{s+2} \Rightarrow Y(s) = \frac{3}{(s+2)(s^2 + 3s + 2)}$$

$$\therefore Y(s) = \frac{3}{(s+2)(s+1)^2} = \frac{A}{s+2} + \frac{B}{(s+1)^2} + \frac{C}{s+1}$$

$$3 = A(s+2)(s+1) + B(s+1) + C(s+2)^2$$

$$s=-2: 3 = -B \Rightarrow \boxed{B = -3}$$

$$s=-1: \boxed{3 = C}$$

$$\text{Coeff } s^2: 0 = A + C \Rightarrow \boxed{A = -3}$$

$$\therefore Y(s) = \frac{-3}{s+2} - \frac{3}{(s+1)^2} + \frac{3}{s+1}$$

$$\boxed{y(t) = -3e^{-2t} - 3te^{-2t} + 3e^{-t}}$$



ex:- solve the following differential equations using LT

(1)  $y'' + 4y' + 3y = 0$ ,  $y(0) = 3$ ,  $y'(0) = 1$

sol:  
 $\downarrow$   $LT\{y''\} + 4LT\{y'\} + 3LT\{y\} = 0$

$$s^2 Y(s) - sy(0) - y'(0) + 4sY(s) - 4y(0) + 3Y(s) = 0$$
$$Y(s)[s^2 + 4s + 3] = 3s + 1 + 12 = 3s + 13$$

$$Y(s) = \frac{3s + 13}{(s+1)(s+3)} = \frac{A}{s+1} + \frac{B}{s+3}$$

$$\boxed{3s + 13 = A(s+3) + B(s+1)}$$

$$\boxed{s = -1} : 10 = 2A \Rightarrow \boxed{A = 5}$$

$$\boxed{s = -3} : 4 = -2B \Rightarrow \boxed{B = -2}$$

$$Y(s) = \frac{5}{s+1} - \frac{2}{s+3}$$

$$\therefore y(t) = 5e^{-t} - 2e^{-3t}$$

(2)  $y'' + y = 1$ ,  $y(0) = 6$ ,  $y'(0) = 0$

sol:  $LT\{y''\} + LT\{y\} = LT\{1\}$

$$s^2 Y(s) - sy(0) - y'(0) + Y(s) = \frac{1}{s}$$

$$Y(s)[s^2 + 1] = \frac{1}{s} + 6s \quad \begin{matrix} \nearrow 0 \\ \text{10} \end{matrix} = \frac{6s^2 + 1}{s}$$



$$Y(s) = \frac{6s^2 + 1}{s(s^2 + 1)} = \frac{A}{s} + \frac{Bs + C}{s^2 + 1}$$

$$6s^2 + 1 = A(s^2 + 1) + (Bs + C)s$$

$$\boxed{s=0}: \quad \boxed{1=A}$$

$$\boxed{\text{Coeff } s^2}: \quad 6 = A + B \Rightarrow \boxed{B=5}$$

$$\boxed{\text{Coeff } s^1}: \quad \boxed{0=C}$$

$$Y(s) = \frac{1}{s} + 5 \frac{s}{s^2 + 1} = 1 + 5 \cos t$$

ex 1 - (3)  $y'' - 5y' + 6y = e^{-t}, \quad y(0) = 0$   
 $y'(0) = 2$

Sol:  $\mathcal{L}\{y''\} - 5\mathcal{L}\{y'\} + 6\mathcal{L}\{y\} = \mathcal{L}\{e^{-t}\}$

$$\downarrow s^2 Y(s) - s y(0) - y'(0) - 5s Y(s) + 5 y(0) + 6Y(s) = \frac{1}{s+1}$$

$$Y(s)[s^2 - 5s + 6] = \frac{1}{s+1}$$

$$Y(s) = \frac{1}{(s+1)(s-2)(s-3)} = \frac{A}{s+1} + \frac{B}{s-2} + \frac{C}{s-3}$$

$$1 = A(s-2)(s-3) + B(s+1)(s-3) + C(s+1)(s-2)$$

$$\boxed{s=-1}: \quad 1 = 12A \Rightarrow \boxed{A = \frac{1}{12}}$$

$$\boxed{s=2}: \quad 1 = -3B \Rightarrow \boxed{B = -\frac{1}{3}}$$

$$\boxed{s=3}: \quad 1 = 4C \Rightarrow \boxed{C = \frac{1}{4}}$$

$$Y(s) = \frac{\frac{1}{12}}{s+1} - \frac{\frac{1}{3}}{s-2} + \frac{\frac{1}{4}}{s-3}$$

$$y(t) = \frac{1}{12} e^{-t} - \frac{1}{3} e^{2t} + \frac{1}{4} e^{3t}$$





# Integration

Q3	Idea (30)%	Steps (40)%	Calculations (20)%	Final Result (10)%	Mark (25)
----	------------	-------------	--------------------	--------------------	-----------

Evaluate the following integrals

- (a) (i)  $\int \frac{1}{\cos x} dx$ , (ii)  $\int \frac{5}{\sqrt{9-4x^2}} dx$ ,
- (b) (i)  $\int \frac{1}{\sin^4 x} dx$ , (ii)  $\int \frac{1}{\sin x - 2 \cos x} dx$
- (c) (i)  $\int e^{ax} \sin bx dx$ , (ii)  $\int \frac{\sin x \cos^3 x}{1 + \cos^2 x} dx$
- (d) Evaluate  $I_n = \int (\sin^{-1} x)^n dx$ , and hence Find the value of  $I_4$ .

Q3	Idea (30)%	Steps (40)%	Calculations (20)%	Final Result (10)%	Mark (25)
----	------------	-------------	--------------------	--------------------	-----------

Evaluate the following integrals

- (a) (i)  $\int \frac{x-1}{\sqrt{x^2+2}} dx$ , (ii)  $\int \sinh^2 x \cosh^3 x dx$
- (b) (i)  $\int \frac{x}{\sqrt{2x^2-4x-7}} dx$ , (ii)  $\int \frac{\sqrt{x}+1}{\sqrt{x}(\sqrt[3]{x}+1)} dx$
- (c) (i)  $\int \frac{x^4-3}{x^2+2x+1} dx$ , (ii)  $\int_0^\infty \frac{1}{(1+x^2)^2} dx$
- (d) Determine the area of the region enclosed by  $y = \ln x$  and  $x = 4$  and the x-axis

Examining committee:

Name: Dr/ Emad Alfred

Dr/ Abdel Baset Ismail

Good luck!